Chesterfield Township School HEALTH OFFICE REPORT - September 2020

Date: October 1, 2020

Student Visits:	Category	Number
	First Aid	6
	Medications	0
	Medical	6
	Other	1
	Counseling	0
	Health Screenings	40
	Health screenings for I&RS or CST	0
	Head lice checks	0
	DYFS	0
	Staff Visits	6
	Parent Communication	118
	Documentation of records	140

Health Office Visits:	Total: 76	Per Day: 4.5
-----------------------	-----------	--------------

Communicable Diseases:	Disease	Number of cases
	Strep Throat	0
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0

Accident Reports	2
Students on daily medication / treatment	0
Telephone Calls to parents for illness or injury at school	0
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	5
DYFS	0
Home Visits	0
Students on Homebound Instruction	0

Comments:

- Set up screening room
- Checking staff daily symptom check compliance
- Checking student daily health form compliance
- preparing first aid bag for classroom teachers
- AED maintenance replaced batteries/pads/face shields
- attended Pandemic Response Team Committee meeting
- Attended NJIIS webinar to gain access to online immunization records
- Inservice with aids on expectations for student/staff daily arrival
- Initiated set up for staff flu vaccine

- Distributed PPE to staff
- 10 student withdrawal file preparation
 4 new student files prepared

School Nurse: Charmaine Ramos, MSEd, BSN, CSN, RN	Charmaine Ramos
Cori Esposito, BSN, RN, CSN	C.Esposito

Facilities Report September 2020

- 1. Air Purifiers The installation of the air purifiers ("scrubbers") is complete. Liberty Mechanical finished installing the 46 Nu-Calgon iWave-R to the heat pumps in the building. The 5 Nu Calgon I Wave mini splits have been installed.
- 2. On September 28th and October 5th there was some vandalism done in the back of the school by the playground. The district caught some the children on camera and has filed a report with Chesterfield police. The total cost of the damage as of now is \$469.00 and the police pressed charges on the identified children.
- 3. There was an inspection done to the playground; all equipment is in good shape. The inspector highly recommended having the rubber resurface because of the swing area having many tripping hazards. After refinishing the rubber surface, he also recommended purchasing rubber mats for under the swings since it is a high traffic area.

Andrew Polo Business Administrator October 21, 2020

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number Equipment
14540	Action Taken	Priority	Dahart Cartar	Craft	
14540	Closed Work Orders Monthly - Fire Extiguishers - Refer to PM schedule details. fire extinguishers checked out ok	9/1/2020 3:42:21 9/22/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Fire Exiguishers
14541	Closed Work Orders Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details. diesel fuel level 688 gallons	9/1/2020 3:42:22 9/9/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way
14542	Closed Work Orders Monthly - PM Schedule created on 1/30/2012 - Refer to PM schedule details. solar readings for august 526269	9/1/2020 3:42:23 9/9/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Solar 1
14543	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. floor scrubber 1serviced	9/1/2020 3:42:23 9/6/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Floor Scrubber #1
14544	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. floor scrubber 2 serviced	9/1/2020 3:42:23 9/6/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Floor Scrubber #2
14545	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. water pickup serviced	9/1/2020 3:42:23 9/6/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Water Pick Up #1
14546	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. carpet machine checked out cleaned and ok ready to use	9/1/2020 3:42:24 9/3/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Carpet Machine #1
14547	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. rest room machine serviced and cleaned ready to use	9/1/2020 3:42:24 9/3/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Restroom Machine
14548	Closed Work Orders Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details. clark #2 floor machine cleaned and checked out and ready to use	9/1/2020 3:42:24 9/3/2020 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Floor Machine #2

10/6/2020 2:56:37 PM Page 1 of 7

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
14549	Closed Work Orders	9/1/2020 3:42:24	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/6/2020 Medium	Pingitor, Larry		Burnisher
	burnisher tested out ok				
14550	Closed Work Orders	9/1/2020 3:42:24	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/6/2020 Medium	Pingitor, Larry		Weter Diele Lie #2
	water pickup #2 cleaned and inspected working ok	Wedium			Water Pick Up #2
14551	Closed Work Orders	9/1/2020 3:42:24	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 3/5/2012 - Refer to PM schedule details.	9/6/2020 Medium	Pingitor, Larry		0 111 1: 40
	carpet machine cleaned and serviced	Wediani			Carpet Machine #2
14552	Closed Work Orders	9/1/2020 3:42:25	Robert Carter		
	Yearly - PM Schedule created on 8/9/2012 - Refer to PM schedule details.	9/2/2020 Medium	Pingitor, Larry	Pumps	Five Divisor #4
	inspected by oliver co.	Wediani		i umps	Fire Pump#1
14553	Closed Work Orders	9/1/2020 3:42:25	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 8/10/2012 - Refer to PM schedule details.	9/2/2020 Medium	Pingitor, Larry	Pumps	la alcau Duman #4
	was inspected by Oliver co.	Wediam		rumps	Jockey Pump#1
14554	Closed Work Orders	9/1/2020 3:42:26	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012	9/30/2020	Pingitor, Larry		
	- Refer to PM schedule details. ipm no findings	Medium		Pest Control	IPM
14555	Closed Work Orders	9/1/2020 3:42:26	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 12/3/2012 - Refer to PM schedule details.	9/14/2020 Medium	Pingitor, Larry		DOOF
	roof no new issues found	Wedtani			ROOF
14556	Closed Work Orders	9/1/2020 3:42:27	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 5/22/2018 - Refer to PM schedule details.	9/28/2020 Medium	Pingitor, Larry		
	geo pit it was dry kids lifted up heavy lid had to bolt it down it is secure now	Would			
14557	Closed Work Orders	9/1/2020	Tracey Miller	Classroom	30 Saddle Way
	Need more paper towels.	9/2/2020	Pingitor, Larry		320
	filled dispenser	Medium		General Maintenance	

10/6/2020 2:56:37 PM Page 2 of 7

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
14558	Closed Work Orders	9/1/2020	Tracey Miller	Classroom	30 Saddle Way	
	I am going to need about 6 student desks and the U table removed. removed table and delivered 6 desks	9/2/2020 Medium	Pingitor, Larry	General Maintenance	320	
14560	Closed Work Orders	9/1/2020	melissa sakimura	Classroom	30 Saddle Way	
	Could we please have another teacher chair in our room? We have 4 adults in our room this year. delivered chair	9/1/2020 Medium	Pingitor, Larry	General Maintenance	327	
14563	Closed Work Orders	9/1/2020	Tracey Miller	Classroom	30 Saddle Way	
	It is very warm in my room	9/6/2020	Pingitor, Larry		320	
	liberty mech.repaired unit	Medium		Heating/Ventilatio n /Air Conditioning		
14564	Closed Work Orders	9/2/2020	Anne Lawrence	Classroom	30 Saddle Way	
	Need coteacher desk in classroom Time Available: any	9/6/2020 Medium	Pingitor, Larry	Custodial	B115	
	delivered extra desk for teacher					
14566	Closed Work Orders	9/3/2020 1:06:26	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	9/6/2020 Medium	Pingitor, Larry	Heating/Ventilatio	UH#11	
	water room no issues found	Westarr		n /Air Conditioning	OH#11	
4567	Closed Work Orders	9/3/2020 1:06:26	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	9/6/2020	Pingitor, Larry	11 0 04 00 0		
	fire pump room no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#12	
14569	Closed Work Orders	9/3/2020	Amanda Bulley	Classroom	30 Saddle Way	
	We need 2 student desks and 1 student chair.	9/6/2020	Pingitor, Larry		327	
	2 desks and a chair was delivered to classroom	Medium		General Maintenance		
14570	Closed Work Orders	9/7/2020 2:02:47	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/8/2020 Medium	Pingitor, Larry		PLAYGROUND#	
	playground 1 no new issues trash was pulled. put 1 swing back up for a kindergarten studen	t				

10/6/2020 2:56:37 PM Page 3 of 7

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
14571	Closed Work Orders	9/7/2020 2:02:47	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	9/8/2020 Medium	Pingitor, Larry		Playground#2
	playground 2 trash was pulled no issues found	I			r raygrouna
14572	Closed Work Orders	9/7/2020 2:02:47	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	9/9/2020 Medium	Pingitor, Larry		Generator
	generator run time 283.1 hours				Gonoradi
4573	Closed Work Orders	9/7/2020 2:02:48	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 -	9/8/2020	Pingitor, Larry		
	Refer to PM schedule details.	Medium		Landscaping	Courtyard
	courtyard grass was cut and trimmed				
4579	Closed Work Orders	9/9/2020	Larry Pingitor	Computer Lab	30 Saddle Way
	office door in lab key stuck in door	9/9/2020	Pingitor, Larry		
	removed lock and was able to get the key out	High			
14582	Closed Work Orders	9/9/2020	annemarie petty	Classroom	30 Saddle Way
	paper towel handle stuck in bathroom	9/9/2020	Pingitor, Larry		B230
	replaced dispenser	Medium		General Maintenance	
14585	Closed Work Orders	9/10/2020	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	9/11/2020	Pingitor, Larry		
	Refer to PM schedule details. water room no issues found	Medium		Heating/Ventilatio n/Air Conditioning	UH#11
14586	Closed Work Orders	9/10/2020	Robert Carter	Corrainorning	30 Saddle Way
4500	Weekly - PM Schedule created on 1/9/2012 -	9/11/2020	Pingitor, Larry		oo caaalo way
	Refer to PM schedule details.	Medium	riligitor, Larry	Heating/Ventilatio	UH#12
	fire pump room no issues found			n /Air Conditioning	011//12
4588	Closed Work Orders	9/10/2020	Liz Schauer	-	30 Saddle Way
	Can I please have 1 student desk, 1 black/tan	9/10/2020	Pingitor, Larry		229
	wheelie chair, 1 taller student chair, and 1 shorter student chair brought to my room please?	Medium		General Maintenance	
	delivered items to classroom as requested				
14589	Closed Work Orders	9/10/2020	Bayley Hickey	Gym	30 Saddle Way
	Hooks to be hung in the gym closet Not	9/18/2020	Pingitor, Larry		208
	Urgent! Time Available: any	Medium		Doors and	

10/6/2020 2:56:37 PM Page 4 of 7

February, 2011 8330 5566 5 5 5 5620 53,100.00		Total Generation (kWh) month end	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
April	.1	2770	2770								
May, 2011		8330	5560		5		5	\$620	\$3,100.00	9/8/11	
Nume, 2011		12790	4460		6		6	\$620	\$3,720.00	9/8/11	
Luly, 2011 36008 8128 33238 8 333 8 \$100 \$800.00		18580	5790		7		7	\$620	\$4,340.00	9/8/11	
August, 2011		27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
September, 2011 44594 1762 41824 1 40 1 \$100 \$100.00 October, 2011 49840 5246 47070 5 45 5 \$100 \$300.00 December, 2011 55662 2882 50010 3 48 3 \$100 \$300.00 January, 2012 58390 2728 55620 3 54 3 \$100 \$300.00 March, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 March, 2012 67228 \$216 64458 5 62 5 \$100 \$500.00 March, 2012 6728 \$216 64458 5 62 5 \$100 \$500.00 May, 2012 80249 6692 77479 7 77 7 \$122.50 \$375.00 June, 2012 80301 6052 83331 6 83 6 \$135.50 \$8813.00 June, 2012		36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
October, 2011 49840 5246 47070 5 45 5 \$100 \$500.00 November, 2011 55780 2940 50010 3 48 3 \$100 \$300.00 December, 2011 55662 2882 52892 3 51 3 \$100 \$300.00 January, 2012 58390 2728 55620 3 54 3 \$100 \$300.00 March, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 March, 2012 62012 3629 70787 6 70 6 \$122.50 \$545.00 March, 2012 77357 6329 70787 6 70 6 \$122.50 \$855.00 June, 2012 86301 6052 83531 6 83 6 \$135.50 \$813.00 July, 2012 92564 6263 88794 6 89 6 \$135.50 \$981.30 August, 2012 </td <td></td> <td>42832</td> <td>6824</td> <td>40062</td> <td>6</td> <td>39</td> <td>6</td> <td>\$100</td> <td>\$600.00</td> <td>6/1/12</td> <td></td>		42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
November, 2011 52780 2940 50010 3 48 3 \$100 \$300.00 December, 2011 55662 2882 52892 3 51 3 \$100 \$300.00 \$300.00 February, 2012 58390 2728 55620 3 54 3 \$100 \$300.00 \$300.00 February, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 February, 2012 67228 5216 64458 5 62 5 \$100 \$500.00 March, 2012 7285 5620 3 54 62 5 \$100 \$500.00 March, 2012 7285 7 6329 70787 6 70 6 \$122.50 \$245.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$2345.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$735.00 May, 2012 80249 6692 77479 7 77 7 \$122.50 \$857.50 June, 2012 86301 6052 83531 6 83 6 \$135.50 \$813.00 June, 2012 992564 6263 88794 6 89 6 \$135.50 \$813.00 August, 2012 992564 6263 88794 6 89 6 \$135.50 \$813.00 August, 2012 989818 6354 96148 7 96 7 \$135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$948.50 September, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 109775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 11679 1904 108990 1 108 1 \$135.50 \$135.50 \$406.50 December, 2012 117268 2762 114498 3 114 3 \$135.50 \$406.50 February, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 February, 2013 114506 2827 111736 3 111 3 \$135.50 \$948.50 September, 2012 11679 1904 108990 1 108 1 \$135.50 \$948.50 September, 2012 11679 1904 108900 1 108 1 \$135.50 \$406.50 March, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 February, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 March, 2013 1147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 147268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 156369 3 5562 118080 4 118 4 \$135.50 \$406.50 March, 2013 156369 3 5562 118080 4 118 4 \$135.50 \$406.50 March, 2013 156360 3 5562 118080 4 118 4 \$135.50 \$406.50 March, 2013 156360 3 5562 118080 4 118 4 \$190.00 \$	011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
December, 2011 55662 2882 52892 3 51 3 \$100 \$300.00 January, 2012 58390 2728 55620 3 54 3 \$100 \$300.00 Agril, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 March, 2012 67228 5216 64458 5 62 5 \$500 \$500.00 March, 2012 73557 6329 70787 6 70 6 \$122.50 \$245.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$235.00 April, 2012 80249 6692 77479 7 77 7 \$122.50 \$857.50 June, 2012 86301 6052 83531 6 83 6 \$135.50 \$813.00 July, 2012 98318 6354 96148 7 96 7 \$135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 December, 2012 101775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 December, 2013 11268 2762 114488 3 111 3 \$135.50 \$406.50 April, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 141813 6987 139043 7 139 7 \$140.00 \$560.00 April, 2013 141813 6987 139043 7 139 7 \$140.00 \$560.00 April, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 April, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 April, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 April, 2014 168122 1743 165352 2 165 2 \$175.00 \$375.00 December, 2013 158850 6372 156080 7 156 7 \$140.00 \$380.00 December, 2014 168122 1743 165352 2 165 2 \$175.00 \$375.00 April, 2014 168122 1743 165352 2 165 2 \$175.00 \$375.00 April, 2014 16824 6169 183254 6 183 6 5190.00 51,176.00 April, 2014 168528 1406 166758 1 166 1 5175.00 5155.00 December, 2014 19396 77772 191026 8 191 8 191.00 \$1,176.00 April, 2014 19396 77772	1	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
January, 2012 58390 2728 55620 3 54 3 \$100 \$300.00 February, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 \$300.00 March, 2012 67228 \$5216 64458 5 62 5 \$100 \$500.00 March, 2012 2 64 2 \$122.50 \$5245.00 March, 2012 2 64 2 \$122.50 \$5245.00 March, 2012 73557 6329 70787 6 70 6 \$122.50 \$735.00 May, 2012 86301 6692 77479 7 77 7 5122.50 \$8575.00 May, 2012 86301 6692 83531 6 83 6 \$135.50 \$813.00 May, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 May, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 May, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 May, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 Ctober, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 November, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 101679 1904 1088909 1 108 1 \$135.50 \$406.50 February, 2013 114506 2827 111736 3 111 3 \$135.50 \$3406.50 February, 2013 117268 2762 114498 3 114 3 \$135.50 \$346.50 February, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 June, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 \$840.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$600.00 \$800.00 \$60	011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
February, 2012 62012 3622 59242 3 57 3 \$100 \$300.00 March, 2012 67228 5216 64458 5 62 5 \$100 \$500.00 March, 2012 73557 6329 70787 6 70 6 \$122.50 \$245.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$735.00 May, 2012 80249 6692 77479 7 77 7 \$122.50 \$857.50 June, 2012 86301 6052 83531 6 83 6 \$135.50 \$813.00 Juny, 2012 92564 6263 89794 6 89 6 \$1335.50 \$813.00 August, 2012 98918 6354 96148 7 96 7 \$135.50 \$948.50 Cotober, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 Cotober, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 109775 2824 107005 3 107 3 \$133.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 January, 2013 117268 2762 111439 3 111 3 \$135.50 \$406.50 May, 2013 1127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 114506 2827 111736 3 111 4 \$135.50 \$542.00 May, 2013 114506 2827 113498 3 114 4 \$135.50 \$542.00 May, 2013 114506 2827 11536 7 125 7 \$135.50 \$948.50 May, 2013 14813 6987 139043 7 139 7 \$135.50 \$948.50 May, 2013 14813 6987 139043 7 139 7 \$135.50 \$948.50 May, 2013 14813 6987 139043 7 139 7 \$130.50 \$948.50 May, 2013 14813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 165060 315 162290 3 162 3 \$175.00 \$980.00 Cotober, 2013 16812 1798 5960 149708 6 149 6 \$140.00 \$980.00 August, 2013 16812 1738 5960 149708 6 149 6 \$140.00 \$980.00 Cotober, 2013 16812 1738 5960 149708 6 149 6 \$140.00 \$980.00 Cotober, 2013 168122 1733 1663079 1319 163609 1 163 1 \$1775.00 \$175.00 January, 2014 168122 1733 165352 2 165 2 \$175.00 \$350.00 \$420.00 November, 2013 168024 6169 183254 6 183 191 8 \$197.00 \$1,175.00 July, 2014 169528 1406 166758 1 166 1 \$177.60 \$1,175.00 \$1,175.00 July, 2014 168024 6169 183254 6 183 191 8 \$197.00 \$1,175.00 \$1,175.00 July, 2014 169028 6399 197425 6 197 6 \$197.00 \$1,182.00 \$1,175.00 July, 2014 186024 6169 183254 6 197 6 \$197.00 \$1,182.00 \$1,175.00 \$1,17)11	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
March, 2012 67228 5216 64458 5 62 5 \$100 \$500.00 March, 2012 2 64 2 \$122.50 \$245.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$735.00 May, 2012 80249 6692 77479 7 77 7 \$122.50 \$887.50 June, 2012 86301 6052 83531 6 83 6 \$135.50 \$813.00 July, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 July, 2012 98918 6354 96148 7 96 7 \$135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$948.50 September, 2012 106951 3286 104181 4 104 4 \$135.50 \$948.50 December, 2012 11679 1904	!	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
March, 2012 2 64 2 \$122.50 \$245.00 April, 2012 73557 6329 70787 6 70 6 \$122.50 \$735.00 May, 2012 80249 6692 77479 7 77 7 \$122.50 \$857.50 June, 2012 86301 6052 33531 6 83 6 \$135.50 \$813.00 July, 2012 92564 6263 89794 6 89 6 \$135.50 \$843.00 August, 2012 98918 6354 96148 7 96 7 \$135.50 \$542.00 October, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 November, 2012 109775 2824 107005 3 107 3 \$135.50 \$465.50 December, 2012 11679 1904 108909 1 108 1 \$135.50 \$465.50 January, 2013 114506 2827 <td>.2</td> <td>62012</td> <td>3622</td> <td>59242</td> <td>3</td> <td>57</td> <td>3</td> <td>\$100</td> <td>\$300.00</td> <td>6/1/12</td> <td></td>	.2	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
April, 2012 73557 6329 70787 6 70 6 \$122,50 \$735,00 May, 2012 80249 6692 77479 7 77 7 \$122,50 \$887,50 June, 2012 986301 6052 83531 6 83 6 \$135,50 \$813,00 July, 2012 92564 6263 89794 6 89 6 \$135,50 \$813,00 August, 2012 98918 6354 96148 7 96 7 \$135,50 \$948,50 September, 2012 103665 4747 100895 4 100 4 \$135,50 \$542,00 October, 2012 106951 3286 104181 4 104 4 \$135,50 \$542,00 November, 2012 111679 1904 108909 1 108 1 \$135,50 \$406,50 December, 2012 111679 1904 108909 1 108 1 \$135,50 \$406,50 <t< td=""><td></td><td>67228</td><td>5216</td><td>64458</td><td>5</td><td>62</td><td>5</td><td>\$100</td><td>\$500.00</td><td>6/1/12</td><td></td></t<>		67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
May, 2012 80249 6692 77479 7 77 7 \$122.50 \$857.50 June, 2012 86301 6052 83531 6 83 6 5135.50 \$813.00 July, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 July, 2012 98918 6354 96148 7 96 7 5135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 September, 2012 111679 1904 108909 1 108 1 \$135.50 \$135.50 January, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 September, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 January, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 September, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 January, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 June, 2013 144813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 143 4 \$140.00 \$800.00 July, 2013 146518 4705 143748 4 143 4 143 4 \$140.00 \$800.00 July, 2013 152478 5960 149708 6 149 6 \$140.00 \$800.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$800.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$800.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$800.00 September, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 1683122 1743 165352 2 165 2 \$175.00 \$375.00					2	64	2	\$122.50	\$245.00	5/28/13	
June, 2012		73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
July, 2012 92564 6263 89794 6 89 6 \$135.50 \$813.00 August, 2012 98918 6354 96148 7 96 7 \$135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 November, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 February, 2013 117268 2762 114498 3 111 3 \$135.50 \$406.50 February, 2013 120850 3582 118080 4 118 \$135.50 \$406.50 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 <tr< td=""><td></td><td>80249</td><td>6692</td><td>77479</td><td>7</td><td>77</td><td>7</td><td>\$122.50</td><td>\$857.50</td><td>5/28/13</td><td></td></tr<>		80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
August, 2012 98918 6354 96148 7 96 7 \$135.50 \$948.50 September, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 110775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 January, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 February, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 <td></td> <td>86301</td> <td>6052</td> <td>83531</td> <td>6</td> <td>83</td> <td>6</td> <td>\$135.50</td> <td>\$813.00</td> <td>5/28/13</td> <td></td>		86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
September, 2012 103665 4747 100895 4 100 4 \$135.50 \$542.00 October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 109775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$406.50 January, 2013 114506 2827 11736 3 111 3 \$135.50 \$406.50 February, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 124826 6951 132056 7 125 7 \$135.50 \$948.50 May, 2013 144813 4705 143748 4 143 4 \$140.00 \$980.00 <td></td> <td>92564</td> <td>6263</td> <td>89794</td> <td>6</td> <td>89</td> <td>6</td> <td>\$135.50</td> <td>\$813.00</td> <td>5/28/13</td> <td></td>		92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
October, 2012 106951 3286 104181 4 104 4 \$135.50 \$542.00 November, 2012 109775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$436.50 January, 2013 114506 2877 111736 3 111 3 \$135.50 \$406.50 March, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 April, 2013 120850 3582 118080 4 1118 4 \$135.50 \$542.00 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 14813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$980.00		98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
November, 2012 109775 2824 107005 3 107 3 \$135.50 \$406.50 December, 2012 111679 1904 108909 1 108 1 \$135.50 \$135.50 \$135.50 January, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 February, 2013 117268 2762 114498 3 114 4 \$135.50 \$406.50 March, 2013 120850 3582 118080 4 118 4 \$135.50 \$406.50 March, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 125 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 144518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$560.00 August, 2013 15850 6372 156080 7 156 7 \$140.00 \$980.00 Oxtober, 2013 16506 3155 162290 3 162 3 \$175.00 \$980.00 January, 2014 168122 1743 163552 2 165 2 \$175.00 \$375.00 January, 2014 168122 1743 163552 2 165 2 \$175.00 \$175.00 March, 2014 17999 4471 171229 5 171 5 \$175.00 \$175.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 186024 6169 183254 6 183 6 \$197.00 \$1,176.00 July, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,176.00 July, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,176.00 July, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 S1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 \$1,176.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,176.00 \$1,176.00 S1,176.00 S1,	012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
December, 2012 111679 1904 108909 1 108 1 \$135.50 \$135.50 January, 2013 114506 2827 111736 3 111 3 \$135.50 \$406.50 February, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$980.00 July, 2013 158850 6372 156080 7 156 7 \$140.00 \$840.00 <td>2</td> <td>106951</td> <td>3286</td> <td>104181</td> <td>4</td> <td>104</td> <td>4</td> <td>\$135.50</td> <td>\$542.00</td> <td>5/28/13</td> <td></td>	2	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
January, 2013 114506 2827 111736 3 111 3 5135.50 \$406.50 February, 2013 117268 2762 114498 3 114 3 \$135.50 \$406.50 March, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$980.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$980.00 <td>)12</td> <td>109775</td> <td>2824</td> <td>107005</td> <td>3</td> <td>107</td> <td>3</td> <td>\$135.50</td> <td>\$406.50</td> <td>5/28/13</td> <td></td>)12	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
February, 2013 117268 2762 114498 3 114 3 5135.50 \$406.50 March, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$980.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 165850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 165060 3155 162290 3 162 3 \$175.00 \$255.00 <)12	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
March, 2013 120850 3582 118080 4 118 4 \$135.50 \$542.00 April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 15850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$980.00 November, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 </td <td>,</td> <td>114506</td> <td>2827</td> <td>111736</td> <td>3</td> <td>111</td> <td>3</td> <td>\$135.50</td> <td>\$406.50</td> <td>5/28/13</td> <td></td>	,	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
April, 2013 127875 7025 125105 7 125 7 \$135.50 \$948.50 May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 166360 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163699 1 163 1 \$175.00 \$175.00	.3	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$175.00		120850	3582	118080	4	118	4		\$542.00	12/4/13	
May, 2013 134826 6951 132056 7 132 7 \$135.50 \$948.50 June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$175.00		127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
June, 2013 141813 6987 139043 7 139 7 \$140.00 \$980.00 July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00<		134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
July, 2013 146518 4705 143748 4 143 4 \$140.00 \$560.00 August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00		141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
August, 2013 152478 5960 149708 6 149 6 \$140.00 \$840.00 September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,176		146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
September, 2013 158850 6372 156080 7 156 7 \$140.00 \$980.00 October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.		152478	5960	149708	6	149	6		1	12/4/13	
October, 2013 161905 3055 159135 3 159 3 \$140.00 \$420.00 November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 Jule, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,182.00<	013				7		7		1	12/4/13	
November, 2013 165060 3155 162290 3 162 3 \$175.00 \$525.00 December, 2013 166379 1319 163609 1 163 1 \$175.00 \$175.00 January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,182.00 August, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00		161905	3055		3	159	3	\$140.00	1	12/4/13	
January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00<	013	165060	3155		3	162	3	\$175.00	\$525.00	6/16/14	
January, 2014 168122 1743 165352 2 165 2 \$175.00 \$350.00 February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00<)13	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
February, 2014 169528 1406 166758 1 166 1 \$175.00 \$175.00 March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$788.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 </td <td></td> <td>168122</td> <td>1743</td> <td></td> <td>2</td> <td>165</td> <td>2</td> <td></td> <td></td> <td>6/16/14</td> <td></td>		168122	1743		2	165	2			6/16/14	
March, 2014 173999 4471 171229 5 171 5 \$175.00 \$875.00 April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,82.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00<										6/16/14	
April, 2014 179855 5856 177085 6 177 6 \$175.00 \$1,050.00 May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.										6/16/14	
May, 2014 186024 6169 183254 6 183 6 \$196.00 \$1,176.00 June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00										6/16/14	
June, 2014 193796 7772 191026 8 191 8 \$197.00 \$1,576.00 July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00										12/7/14	
July, 2014 200195 6399 197425 6 197 6 \$197.00 \$1,182.00 August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00									1	12/7/14	
August, 2014 205793 5598 203023 6 203 6 \$197.00 \$1,182.00 September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00									1	12/7/14	
September, 2014 210414 4621 207644 4 207 4 \$197.00 \$788.00 October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00									† <i>'</i>	12/7/14	
October, 2014 214312 3898 211542 4 211 4 \$197.00 \$788.00 November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00	014									12/7/14	
November, 2014 216878 2566 214108 3 214 3 \$228.50 \$685.50 December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00										12/7/14	
December, 2014 218810 1932 216040 2 216 2 \$228.50 \$457.00									1	6/17/15	
								-		6/17/15	
January, 2015 220903 2093 218133 2 218 2 \$228.50 \$457.00		220903	2093	218133		218		\$228.50	\$457.00	6/17/15	
February, 2015 223106 2203 220336 2 220 2 \$228.50 \$457.00									1	6/17/15	
March, 2015 226883 3777 224113 4 224 4 \$228.50 \$914.00									1	6/17/15	
April, 2015 232854 5971 230084 6 230 6 \$228.50 \$1,371.00									-	6/17/15	
May, 2015 239646 6792 236876 6 236 6 \$258.00 \$1,548.00	-								1	12/1/15	
June, 2015 245524 5878 242754 6 242 6 \$258.00 \$1,548.00	-									12/1/15	

July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
<u> </u>	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
November, 2016 December, 2016	328851	2282	323799	3	323	3	\$195.00	\$585.00	8/15/17	
	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
January, 2017	330377	3153	327607	3	330	3	\$195.00	\$195.00		
February, 2017									8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
May, 2019	452163	6168	449393	6	449					6
June, 2019	458474	6311	455704	6	455					6
July, 2019	467987	9513	465217	10	465					10
August, 2019	471540	3553	468770	3	468					3
September, 2019	476427	4887	473657	5	473					5
October, 2019	479948	3521	477178	4	477					4
November, 2019	483146	3198	480376	3	480					3
December, 2019	485137	1991	482367	2	482	T 				2
January, 2020	487839	2702	485069	3	485					3
February, 2020	491107	3268	488337	3	488					3
										8
March, 2020	498915	7808	496145	8	496	<u> </u>	<u> </u>	<u> </u>	<u> </u>	ð

E+mon D-mon Meter Readings

April, 2020	500565	1650	497795	1	497			1
May, 2020	507164	6599	504394	7	504			7
June, 2020	515283	8119	512513	8	512			8
July, 2020	521172	5889	518402	6	518			6
August, 2020	526269	5097	523499		518			
September, 2020	531947	5678	529177		518			
Totals						391	\$77,764.50	127

^{**8/3/12:} updated April and June with figures from CEPS website from 24 to 21 SREC's